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A0 110,495 (11)
5 53,597 (-1)

Z 56,898 (12)
HFEE 44,033t (13)

x () AFRETAL
XER25810H18IRE

Rl AOZX Frk25610H1H

BEAOGR FEERSRALD (EEREAGIRCEFRSNIZALD) &E@E —BHUEIEA.

g AR 18R Si% 18R ik 1R | MR | IR
JE\ERH] 420 -9 182 -4 238 -5 181 -4
ELH] 215 -1 99 -1 116 0 77 0
E=H] 135 0 61 0 74 0 63 0
KEH] 39 0 16 0 23 0 18 0
WNEL] 12 0 4 0 8 0 5 0
] 85 0 36 0 49 0 25 0
Eayestil] 50 0 7 0 43 0 7 0
P L ] 495 -1 266 0 229 -1 285 -1
FEH] 30 4 17 2 13 2 17 0
1 H] 197 -2 84 -2 113 0 92 -2
= =[] 179 1 97 1 82 0 97 1
] 230 3 115 2 115 1 121 1
ZH] 151 0 69 0 82 0 65 0
& SHT 485 2 241 1 244 1 233 0
FFrH] 83 0 38 0 45 0 49 0
1GRaH] 111 -1 52 0 59 -1 40 -1
FASEH] 168 0 81 -1 87 1 94 -1
—&T 0 0 0 0 0 0 0 0
NET 107 0 52 0 55 0 51 0
T&ET 139 3 66 2 73 1 55 1
N&ET 87 -1 40 0 47 -1 38 0
NET 166 3 65 0 101 3 33 2
T&ET 249 -1 93 -1 156 0 119 0
1ok ] 365 -1 158 -1 207 0 188 -1
SiEH] 2,601 12 1,269 9 1,332 3] 1,083 4
RFRE] 3,474 -11] 1,672 -5 1,802 -6l 1,375 -1
] 1,570 -10 767 -9 803 -1 574 -4
B a)=<tiil) 1,808 -11 923 -7 885 -4 800 -1
FrERHE] 421 -3 194 -1 227 -2 180 -2
FHATHT 3,624 -21] 1,806 -16f 1,818 -5 1,592 -17
LLAEHT 2,400 -3 1,139 -1 1,261 -2 983 0




VEIRH] 2,045 2 980 -1 1,065 3 649 2
Ll e 4,888 15| 2,390 8| 2,498 7| 1,905 7
MEigEs] 2,165 -4 1,063 -4 1,102 0 859 0
EBZRHE] 9,515 29| 4,646 14 4,869 15[ 3,641 13
=2kH] 4,005 2| 1,962 1] 2,043 1 1,517 1
[ EHET 1,157 0 594 -1 563 1 481 1
EREFHIER — 2,601 4 1,238 -1 1,363 5 898 -1
EREFHTERS) 1,860 7 891 0 969 7 671 4
EREFHT PG 7> 585 -4 288 -1 297 -3 212 -1
Er7KH] 5,670 14 2,685 10 2,985 4 1,954 7
g lii) 161 2 155 2 6 0 152 2
ERH] 18 1 10 1 8 0 11 2
ETRE—TH 391 1 205 1 186 0 175 1
ETREIZTH 293 0 128 0 165 0 136 0
ETREI=TH -1 0 -1 0 0 0 -1 0
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 231 0 109 0 122 0 77 0
rES 0 0 0 0 0 0 0 0
TEE—TH 407 13 192 -7 215 -6 188 -4
TEEZTH 721 1 348 1 373 0 335 0
TEE=TH 315 8 156 5 159 3 140 1
WERAT—TH 469 -1 219 -2 250 1 222 -1
RERE—TH 686 -3 317 0 369 -3 327 0
EE=TH 401 -7 200 -4 201 -3 214 -1
EMPRET—T B 317 -1 133 0 184 -1 145 -1
Gl = 501 -1 238 0 263 -1 242 0
JtFEILE—TH 178 0 82 0 96 0 85 0
JtFEILETZTH 408 6 189 4 219 2 181 2
AR —TH 274 0 145 0 129 0 145 0
AR —TH 456 -1 235 1 221 -2 243 -1
FEH—TH 133 1 63 1 70 0 57 0
FZHZTH 336 1 155 1 181 0 159 1
[REEIH 309 -6 145 -3 164 -3 219 -2
wFEE—TH 122 1 59 1 63 0 63 1
RFEE =T H 267 0 113 0 154 0 97 0
RAEI—TH 455 0 209 -1 246 1 176 1
FREIZTH 375 4 174 3 201 1 159 2
RREI=TH 511 -4 240 -3 271 -1 223 -3
FRAFETI T H 402 -1 181 0 221 -1 161 -1
FRETRTH 597 1 261 1 336 0 223 0
FuRE—TH 216 -2 120 -1 96 -1 103 -2
FUEEI”TH 375 0 215 -2 160 2 214 -2
HIIEEE—TH 455 -6 224 -2 231 -4 215 -3




HIGEAI”TH 327 5 151 2 176 3 131 1
BRE—TH 154 0 79 0 75 0 82 0
BRI "TH 628 2 298 0 330 2 285 2
BRE=TH 518 0 263 0 255 0 224 0
BEEMTH 240 0 105 0 135 0 99 0
EEEATH 715 0 329 1 386 -1 355 0
Kt —TH 316 2 157 1 159 1 137 -1
XK —TH 224 -1 109 -1 115 0 88 -1
AFH—TH 123 -1 60 -1 63 0 64 -1
AFHZTH 10 0 5 0 5 0 5 0
AFH=TH 184 -1 93 0 91 -1 84 0
TEEIA—TH 676 5 323 2 353 3 245 2
TEsETFE T H 330 0 154 0 176 0 127 0
TEEAR=TH 395 1 213 1 182 0 151 1
TEEIFEM T B 506 2 235 1 271 1 211 1
TEEAATH 620 1 298 0 322 1 260 1
TEEIPRNT B 360 -2 190 -2 170 0 170 -1
TEsETFEE T H 639 -8 307 -5 332 -3 297 -4
TEEIFEA\TH 702 -1 339 0 363 -1 294 -2
TERER—TH 1,466 1 701 0 765 1 617 0
THREERTTH 408 -1 210 -1 198 0 167 0
TEREIR=TH 678 -1 329 2 349 -3 281 1
TEREIERIUT B 1,156 10 565 4 591 6 467 2
TEHREERATH 984 -6 507 -3 477 -3 496 -4
T2REERANT B 562 13 285 9 277 4 308 6
TEZRERETH 1,507 -2 771 0 736 -2 652 -2
TARETERNTH 1,231 6 558 3 673 3 577 4
TEREIRAT B 424 -1 206 -1 218 0 142 -1
TEEIE—TH 82 -5 47 -3 35 -2 65 -5
TEEIEZTH 97 -3 64 -2 33 -1 76 -3
4N st 81,628 13| 39,616 -3| 42,012 16( 33,570 -5
AEH]E 106 0 46 0 60 0 68 1
AEHTA 110 3 54 2 56 1 62 2
AEHERE 13 0 5 0 8 0 10 0
AREHT/NBR 115 0 53 0 62 0 51 0
AEHKH 9 0 5 0 4 0 6 0
AEHTEH 62 0 26 0 36 0 26 0
AEH R 10 0 5 0 5 0 7 0
AEHE /R 9 0 3 0 6 0 5 0
45 12 0 4 0 8 0 9 0
AEMIXEEST 446 3 201 2 245 1 244 3
IN= 1 AVES] 34 0 17 0 17 0 22 0
IN= 1RO 36 -2 16 -1 20 -1 26 -1




IN= I E0) 38 0 17 0 21 0 23 0
[1: SHTER S 30 0 11 0 19 0 19 0
[LERTEAR 58 0 27 0 31 0 33 0
[LSHEHH 23 -1 12 -1 11 0 15 -1
NG9 26 0 17 0 9 0 17 0
[LEE/NFS 36 0 16 0 20 0 16 0
FEH] 36 0 21 0 15 0 23 0
[ S EEET 317 -3 154 -2 163 -1 194 -2
SUEERSET 763 0 355 0 408 0 438 1
TR ET [ A _E 1,369 -1 660 -1 709 0 486 0
T2 X T ] EH 718 -2 311 0 407 -2 226 -1
&R R 1,268 4 605 1 663 3 421 1
e 2K T iz E P 1,052 1 525 2 527 -1 373 1
e 1,363 3 671 3 692 0 459 2
e 1,156 1 539 1 617 0 425 1
TN ] = AR 3,963 -4 1,917 -4 2,046 0| 1,427 0
TR X ERET 10,889 2| 5,228 2| 5,661 0| 3,817 4
ERILIET_ESREESF 2,114 -1 993 -5 1,121 4 704 2
ERILIE] RSB 2,609 -241 1,304 -7 1,305 -17 919 -3
ERILIETER/)N I 2,024 -7 1,013 -4/ 1,011 -3 789 0
BRI BT PaR T 1,525 4 753 3 772 1 517 2
BRI LI BT iF 1,165 12 578 5 587 7 423 4
ERLLIET) 1R 2,262 11} 1,115 5 1,147 6 816 4
ERILIE] R T 5,516 1] 2,642 3| 2,874 -2| 2,040 4
BRI [X &R 5T 17,215 -4 8,398 of 8,817 -4 6,208 13
a 5t 110,495 11| 53,597 -1 56,898 12| 44,033 13




